

BID PROPOSAL FORM
EMERGENCY/ON-CALL SANITARY SEWER REPAIRS AND RELATED SERVICES

Bidder: **Waters & Bugbee, Inc.**

Address: **75 South Gold Drive**

Hamilton, NJ 08691

Telephone: **609-584-1100**

Facsimile: **609-584-2200**

Contact Person: **Charles P. Waters, Executive V.P.**

Email Address: **bids@watersandbugbee.com**

1. The undersigned, having carefully familiarized themselves with the scope of work, technical specifications, administrative requirements, and conditions affecting the cost of the materials and their performance, and having carefully examined and fully understood the Bid Documents prepared by Princeton, hereby accepts all terms and conditions of the Bid Documents, and hereby affirms and proposes to enter into a contract to provide all supervision, labor, materials, equipment, transportation and all other expenses required to supply, deliver and install completely the material covered by the Bid Documents for the sum indicated against the applicable bid item.
2. The undersigned acknowledges that they have carefully examined the Instructions to Bidders, Detailed Specifications, Drawings, and all Addenda acknowledged herein. Further, the undersigned has inspected the project site and fully understands the conditions affecting the work. Bidder is familiar with and is satisfied as to all federal, state, and local Laws and Regulations that may affect cost, progress and performance of the Work.
3. The undersigned hereby certifies that they have full authority to make the Proposal and does further declare that they are the only person or persons interested in this Proposal and has not entered into any collusion in preparing the Proposal.
4. If notified of acceptance of this Proposal within 60 days after the time set for opening bids, or any authorized extension of that time, the undersigned agrees to execute a contract for the Work for the stated sum in the Bid Proposal form included in the Contract Documents, and to complete the work according to the terms and conditions of the contract within the time established in the Specifications.
5. The undersigned agrees, if awarded the Contract, to mobilize and begin work within 10 business days after the Notice to Proceed and substantially complete the entire work to the satisfaction of the Owner within the time stated in the Specifications. We further represent and certify that we will provide all equipment and other items necessary to complete the Contract. We further agree that the Work shall be substantially completed and ready for final payment in accordance with the Bid Documents on or before the dates or within the number of days indicated in the Agreement.

6. The undersigned has given written notice of all conflicts, errors, ambiguities, or discrepancies that they have discovered in the Contract Documents, and the written resolution thereof by Owner is acceptable to both.
7. In accordance with N.J.S.A. 40A:11-23(c), the undersigned Bidder hereby acknowledges receipt of the following Addenda with their initials:

Addendum Number	Issue Date	Initials
Number _____		
If no addenda were issued, initial here:		NONE 

8. We the undersigned are created and existing under the laws of the State of New Jersey as a:

Corporation

Limited Liability Company

Other

9. This bid proposal must be signed in the space provided for signatures below. In the case of an entity, the title of the person signing must be stated, and the signature of said person must be duly attested.

Waters & Bugbee, Inc.

Company or Firm Name

Charles P. Waters, Executive V.P.

Name and Title



11/6/25

Signature

Date



11/6/25

Attest **Michael Rice**

Manager - Operational Support

Date

BID PRICE SHEET
EMERGENCY/ON-CALL SANITARY SEWER REPAIRS AND RELATED SERVICES

Item	Description	Quantity	Unit	Unit Price	Extended Price
Miscellaneous Concrete					
1.	5" Concrete Sidewalk	16	S.F.	\$40.00	\$640.00
2.	Reinforced Concrete Sidewalk, 8" Thick	40	S.F.	\$50.00	\$2,000.00
3.	9" x 18" Concrete Curb	20	L.F.	\$90.00	\$1,800.00
4.	4" x 6" x 10.5" Belgian Block Curb	20	L.F.	\$200.00	\$4,000.00
Miscellaneous Paving					
5.	HMA Milling, 2" Thick (<2,000 SY)	1,000	SY	\$23.00	\$23,000.00
6.	HMA Milling, 2" Thick (>2,000 SY)	2,500	SY	\$20.00	\$50,000.00
7.	HMA Milling, 6" Thick (<2,000 SY)	1,000	SY	\$45.00	\$45,000.00
8.	HMA Milling, 6" Thick (>2,000 SY)	2,500	SY	\$40.00	\$100,000.00
9.	HMA 9.5M64 Surface Course, installed without Paver, Tamped or Rolled (<20 tons)	10	TN	\$440.00	\$4,400.00
10.	HMA 9.5M64 Surface Course, installed by Paver to include Tack Coat, Rolling of Asphalt (20 to 200 tons)	50	TN	\$1,203.00	\$60,150.00
11.	HMA 9.5M64 Surface Course, installed by Paver to include Tack Coat, Rolling of Asphalt (>200 tons)	250	TN	\$291.00	\$72,750.00
12.	HMA 12.5M64 Base Course, installed without Paver, Tamped or Rolled (<20 tons)	10	TN	\$425.00	\$4,250.00
13.	HMA 12.5M64 Base Course, installed by Paver to include Rolling of Asphalt (20 to 200 tons)	50	TN	\$1,195.00	\$59,750.00
14.	HMA 12.5M64 Base Course, installed by Paver to include Rolling of Asphalt (>200 tons)	250	TN	\$284.00	\$71,000.00
15.	Bituminous Cold Patch	10	TN	\$555.00	\$5,550.00
Miscellaneous Earthwork and Site Restoration					
16.	Roadway Excavation, Unclassified includes General Excavation	20	C.Y.	\$510.00	\$10,200.00

17.	Dense Graded Aggregate Subbase	10	C.Y.	\$65.00	\$650.00
18.	Portland Cement Concrete Fill	5	C.Y.	\$550.00	\$2,750.00
19.	Crushed Stone 3/8" to 1/2"	1	TN	\$73.00	\$73.00
20.	5" Topsoil and Sod	20	S.Y.	\$58.00	\$1,160.00
21.	5" Topsoil and Seed, and Tackifier	20	S.Y.	\$30.00	\$600.00
22.	Tree Protection	1	Unit	\$390.00	\$390.00
Sanitary Sewer Structures					
23.	Reconstruct Manhole, 0'- 6' deep	1	Unit	\$12,400.00	\$12,400.00
24.	Reconstruct Manhole, 6' - 10' deep	1	Unit	\$17,515.00	\$17,515.00
25.	Reconstruct Manhole, 10' - 16' deep	1	Unit	\$28,685.00	\$28,685.00
26.	Reset Manhole Frame, includes all Adjacent Restoration	1	Unit	\$3,270.00	\$3,270.00
27.	Install New Manhole Casting and Lid, includes all Adjacent Restoration	1	Unit	\$4,225.00	\$4,225.00
28.	Construct Manhole, 0' - 6' deep	1	Unit	\$16,975.00	\$16,975.00
29.	Construct Manhole, 6' - 10' deep	1	Unit	\$22,210.00	\$22,210.00
30.	Construct Manhole, 10' - 16' deep	1	Unit	\$35,825.00	\$35,825.00
Miscellaneous Sanitary Sewer					
31.	Replace Sewer Lateral Cleanout 4" PVC, 0' - 6' deep, to include Grass Restoration	1	Unit	\$4,115.00	\$4,115.00
32.	Replace Sewer Lateral Cleanout 4" PVC, 6' - 12' deep, to include Grass Restoration	1	Unit	\$9,395.00	\$9,395.00
33.	Replace Sewer Lateral 4" PVC, 0' - 6' deep, to include Grass Restoration	10	L.F.	\$855.00	\$8,550.00
34.	Replace Sewer Lateral 4" PVC, 6' - 12' deep, to include Grass Restoration	10	L.F.	\$1,685.00	\$16,850.00
35.	Replace Sewer Lateral 4" PVC, 0' - 6' deep, to include Pavement Restoration	10	L.F.	\$1,145.00	\$11,450.00

36.	Replace Sewer Lateral 4" PVC, 6' - 12' deep, to include Pavement Restoration	10	L.F.	\$1,730.00	\$17,300.00
37.	Sanitary Sewer Point Repair, 0' - 6' deep, includes Roadway Restoration	1	L.S.	\$12,025.00	\$12,025.00
38.	Sanitary Sewer Point Repair, 6' - 12' deep, includes Roadway Restoration	1	L.S.	\$22,220.00	\$22,220.00
39.	Sanitary Sewer Point Repair, 12' - 18' deep, includes Roadway Restoration	1	L.S.	\$41,645.00	\$41,645.00
40.	Construct 8" PVC Sanitary Sewer, 0' - 6' deep	30	L.F.	\$470.00	\$14,100.00
41.	Construct 8" PVC Sanitary Sewer, 6' - 12' deep	30	L.F.	\$900.00	\$27,000.00
42.	Construct 8" PVC Sanitary Sewer, 12' - 18' deep	30	L.F.	\$1,825.00	\$54,750.00
43.	Construct 10" PVC Sanitary Sewer, 0' - 6' deep	30	L.F.	\$495.00	\$14,850.00
44.	Construct 10" PVC Sanitary Sewer, 6' - 12' deep	30	L.F.	\$925.00	\$27,750.00
45.	Construct 10" PVC Sanitary Sewer, 12' - 18' deep	30	L.F.	\$1,850.00	\$55,500.00
46.	Construct 12" PVC Sanitary Sewer, 0' - 6' deep	30	L.F.	\$500.00	\$15,000.00
47.	Construct 12" PVC Sanitary Sewer, 6' - 12' deep	30	L.F.	\$960.00	\$28,800.00
48.	Force Main Point Repair	1	L.S.	\$33,680.00	\$33,680.00
49.	Trenchless Point Repair	10	UN	\$3,540.00	\$35,400.00
50.	Additional Footage of Lining	10	LF	\$725.00	\$7,250.00
Allowance					
51.	Traffic Control Allowance	1	L.S.	\$10,000	\$10,000
TOTAL BASE BID AMOUNT, IN NUMBERS		\$ 1,128,848.00			
TOTAL BASE BID AMOUNT, IN WORDS		One Million One Hundred Twenty Eight Thousand Eight Hundred Forty Eight Dollars and Zero Cents			